HA -1z 2016/6/7 R INE B
B4 H63[E R [l T = AR e BB R
4 I e g R Rk AT i %
F R[4 EMT =P PRES BT =5 AR EER Rz 44 e ke LB s
B+ &R 142 25F RYIVA AfE 5 6L YDA 8L
vent | enen L00m E+E BXRA0) 12.44 (+1.6)[;EK EEQ) 12.54 (+1.6)|/h 4k S&KE(1) 12.94 (+1.6)|#&IL K—(1) 13.07 (+1.6)|FIE RAER() 13.18 (+1.6)[/NE THFH(1) 13.26 (+1.6)[3&1R FE1Z(1) 13.28 (+1.6)| L FTTA() 13.38 (+1.6)
Ef-pz5h TR-NGR| K- #E& TR|RME-ERH TR| &R - Ei K- 2R $ K@ -RiL - EmH K- HEE T
6578 1500m FEEIEBEO) 4:50.84|HEH 1&4H(1) 45335|%88 E&HIF(1) 4:57.41(F# KHQ) 5:06.12( i THE(®) 5:09.55| KA FEiEQ) 5:11.004&E#% 1=(1) 5:11.66|&2E F4£x1) 5:11.76
K- R $ TR| R Rt TR| M- FiaH K@ 5ik+ K- /NEH R - B fE RE-mH K- HEE T
w7 | enen 100m [RIL #(@3) w1129 (+3.3)[iZfE IHB4@R)  wi1.69 3| RABJ FZEQR) wil.78 (+3.3)|EE E#Q) w11.82 (+3.3)|KF BHN Q) w11.83 (+3.3)|F1H #EH®) w11.86 (+3.3)|FEE EIEQ) w11.86 (+3.3)|/h 5 B K(3) w11.92 (+3.3)
K- X&HEG Ri-dR$ KR K@ LS K- ERH K& @ RE-NAHESP R - 12
67178 200m [RIL #(@3) 23.57 (+1.4)|i=HE IH4(3) 2406 (+1.4)|FEE EHEG) 2414 HAO|RBN KZEQ) 2448 (+1.4)|F0@ #E®Q) 2448 (+1.4)| 2 1&X@Q) 24.67 (+1.4)|EE EHEQ) 24.93 (+1.4)|FE#H KF(3) 25.02 (+1.4)
K- X&HEG TR|EM- &P TR|ER- M &A G TR|EM-E+ K- K-z & K@ IEH £ - ABRE
65160 400m &2 Q) 54.77(HE M JA3) 55.06|1kciE [EfE(2) 55.85|&F Mk KF(3) 56.66| Fri EH(3) 56.80|#& E3H(3) 58.05| %287 HEF(3) 58.65|i&0 {h#H(3) 1:00.36
Ef-pz5h TR| R K&F TR| & ErH TR fE - 1B K- X5 - XaHEG K@ IEH RKhE-RiL
65178 800m WA KAIER) 2:10.65|H#f XK#&(@Q) 2:11.07|BEF FF$F@Q) 2:13.80| X% HF(2) 2:14.32|=% FHE(3) 2:15.49| %2 % () 2:18.34|E+ & &) 2:18.92|tE A KE(3) 2:18.93
M- =8 RiE - ERH K- B H RiE-#HE K- Rk K- IEH RiE S RKE- 2R+
6516 1500m ti& RmREO) 4:36.19( LR KIAI(3) 4:36.54|FF BAQ 4:38.16| =% FEH(3) 4:39.78|#% k() 4:40.84()1133 FEHE(2) 4:41.653R5E AB5(3) 4:42.52|ch#f FE=H(3) 4:44.59
K [E - KB fE Rf-=&% K- B H RiE-Rib K- LA K- IEH RiE- B+ RE - B
6A7H 2000m ti& RmREO) 9:41.44(35E KF5(3) 9:43.34| 1138 FEHEQ2) 9:50.52| 545 FHQ) 9:53.11|# ZF|ik() 9:59.13| AL 1A(3) 9:59.57|h#f FE=H(3) 10:00.05|FZ EAQ2) 10:01.24
K@ - B fE TR| - ER$ TR| &M IEH R - B & K- LA RiE-Rib RE- BgH R A - B F
6560 L10mH ME ) 16.89 (+1.9)|EHFT #£A(3) 17.32 (H1.9)| K BEQ2) 17.37 (+1.9)[ R+t Z(Q) 17.59 (+1.9)[/I\#% ¥E.K(2) 17.63 H1.9)|118 £(2) 17.92 H1.9)|EH ZQ) 18.07 (+1.9)
K- AB R TR|ER - KE-FEd RiE-ERH K- XSHEF R - B $ F - MBRE S
K- 12 46.41 K- N & HG 46.47|RE-ERH 47.06|&fE- K& 47.33|R[E-Eits 47.58| K- 47.62| K- Ik 47.77|RM@E-Ee 4853
INFR IR (3) B8 Q) s Eh(2) AR BR@) g 52 R EHE) & A& iE EE)
6A7TH | 4x100mR |fEgE FKQ) fRE EIEO) AF BNQ) HiE AT B4 E#Q) R ZM0) TE BWHEO) &% FEQ)
A —mR(2) & /NKERQ) )] g BE33) (L PN B AR #E #5=E0) &% ZKXEHQ2)
FE #HEK®G) Rl #@3) ® EXQ) RE HEO) B FEQ) wma EEQ) #HE EQ) & B2N0)
656 H a— 2 1&KXQ) 1.65|258% $#|2G) 1.600JI1E & AQ3) 1.55|i&8 &&(3) 1.50|K#E £303) 14510 BEEQ) 1.45| /% KFE3) 1.40|lLEA #HiEQ2) 1.40
Ef-pz 5% Ri-FEAEH K- 12 K-z &F KB R - HEE RE-=&% £ - [
65168 - BB B2MEB) wh94 (+2.2)|iEFE E&3H(Q) 5.84 (+1.2)|FF K@) 5.78 (+1.0)|F £ #HEREQ) w5.75 (+2.2)|#EE 3R(3) 546 (+1.2)/MBIL ARFZ(3)  wh.41 2.7 BN EHFEQ) w5.33 (+3.2)[{EME /NAKER(3)  w5.32 (+2.4)
K- R K- K&H KE-®iL R - 12 K- @+ R - 2Rt R - Em £E-XAHEP
65178 = P g B2N0) 1212 F0.5)| AR KHEHQI) 11.73 (+1.1)| KRR #10(3) 11.60 (+0.9)| &Il BEF(3) wi11.35 (+2.2)[f18 &) 11.32 (+1.8)| @+ K(3) 11.27 (+1.5)|sh 4t £(Q) 10.88 (+1.3)|H# £ #R(3) 10.83 (+1.7)
K- R R -mH RiE-FEEH R - [E K- @+ R A RiE-2AH - 12@%
encH | INR BERBA®G) 10.34(H3E F2H3) 9.67|1EmE () 9.49| 1l %) 9.15|#E &) 9.14|1EE STHE®) 8.86|MI% $(2) 8.36|3F EAHQ3) 8.02
Ef-=5% R -RA K- @+ K- XaHEG K- #BEg T - XaHEG RE-NAHES$ R A
6n7e | mamss fEE HBXEQ) 1999|ILAR EAR) 1650|ILA $hiE2) 1589|B&iE HF3(3) 1431(HF EQ3) 1333|Z5E $EO) 1245|554 $K(2) 1049
K- 32 [ R - R K- FEH R - #EE ER-=8th RiE-FEEH R -z 5%
6H7H 110mH 17.24 (-1.1) 19.20 (-1.1) 18.55 (-1.1) 21.15 (-1.1) 20.87 (-1.1) 20.89 (-1.1) 20.20 (-1.1)
6H7H | fafLie 9.27 7.94 7.91 10.33 9.14 7.65 6.12
6A7H 7 Bk 1.52 1.55 1.40 1.40 1.40 1.49 1.34
6H7H 400m 56.13 59.06 59.27 1:02.07 1:03.63 1:05.84 1:07.96
ikt | eaen 100m £ EHE0)  wid50 (29)|[FE BIE()  wi3.04 (R29)|FHF BEFR1) w1397 +2.9)|LE 1) w1398 (+2.9)|KH EE(1)  wi406 (+2.9)|H4F EF(1)  wi409 (+2.9)|FEHE FHE()  wi417 29Il E BHO)  wid21 (+29)
K- R R -mH K- RiH-Rib$ K- R/ KR -mH KiE - K5F £ - ABRE
6717 H 800m mE EE0 2:3407(lLTF F &) 2:4451|E&w EIB() 2:45.03(1&% EEO) 2:4529| L& ZE(1) 2:4536|FIL FH(1) 2:45.38(Fk IEREZ() 2:46.22| Mk F=0) 2:53.72
K- 32 R - [ K- X &HEG KR -mH RE-HEEH - ERH RE-RH £ - [
swimke | enen 100m £k 3T2) w1242 (+20)| BB BTH3) w1266 (+2.6)|ILFT BATE) w1270 (+2.6)|RE APEQ)  wil06 (+26)|HMH HEEQ@)  wi34e (+26)[ILE FHHE®G)  wi353(+26)|HH ILHEEB) w1363 (+26)
K- R $ - K- 2R K@ IS K- -ERH [ - ABfE b - B & o
6H7H 200m kB T2 25.40 (+1.6)| LAt #LAH3) 26.38 (+1.6)|RK&JIl #IH Q) 27.08 (+1.6)|&ZFE BHQ) 27.50 (+1.6)|#% BA{E(2) 28.11 (H1.6)|RE BTEQ@ 28.25 (+1.6)|&8 HEXREQ) 28.37 (+1.6)| KLU F=:(@3) 28.63 (+1.6)
K- R TR-NGR|& - 12ff TR| - FEH TR| &M I+ TR| R -mH K- K&H - IEH K- -hz5t
65160 800m IWE A%EA3) 2:18.58| L+ &FE(3) 2:26. 40| lLF 2<BQ) 2:30.05|AF FHHEO) 2:30.25|;tE HI(3) 2:33.27|F Hin(2) 2:3455( G EAQ) 2:38.61 |5 E#&(3) 2:40.18
K- R TR| RS F TR|ER- =& K- KE&H K-t £ - [ - B & o K& R
6570 1500m IWE A%EA3) 4:47.18|HiE 1&EQ) 5:04.83|AE &) 5:07.88| £#f EEQ) 5:10.00(F Hi{in(2) 5:12.28|%515 HH{E(2) 5:18.03[ LR <) 5:20.04| K@ FL&TEQ) 5:20.82
K- R TR| - 1R [EF TR| K- K& TR|RfE - S+ ETR|R M- ErE+ RE-ERAH RE- =85 K- XK&H
6517 H 100mH HE EQ) 15.74 (+0.7)| K% ERQ) 16.31 +0.7)|4B:F EH(©2) 16.37 (+0.7)|fEH EEZ(2) 16.60 (+0.7)[FR#t F&ZF0(3) 16.74 (+0.7)|®RE IHETH(3) 16.83 (+0.7)| & =E%E(2) 17.14 G0N L HE&Q2) 17.15 (+0.7)
KRE-fEo TR|EM-ER TR|ERM-ERit TR| &R - Ei TR|RME- K& TR - I+ TR|ER-ERF £ - B RE




K- FEm 51.95| & fE- e 52.31| K[ L&+ 52.71 | - 12 [E 52.75| &M@ -FE 53.29| K- EAH 53.94 | [E - 1B 54.24| R [E-He 54.63
fEBE H#Em #iE F&Q) &k B2 B ZH3) Ef E@2) B #HEE) Nkt BaQ©) hE FF2)
6ATH | 4x100mR |F L FiFQ) W X B8 WBERQ) LAt I (3) i &) B EEQ) E+E B&EERQ) AFE ERO)
E+E 150) XEF VFYQ) BE HEHE3) EH 40 FAIER #52%(3) k& FHEQ) A I25EQ) ® X202
&k T2 &N #IH0) ZE FAPFQ) Rk EHQ) % BAE(2) H#E BFE) E '5EO) AR 1%03)
678 — Ek EB0O) 1.52( 4R BAR) 1.43| K4 ZQ) 1.43(Ei0 BHE(2) 1.40|Fi#F F(2) 1.35|FE BREQ) 1.30(RH EPF©) 1.304LL F#2(2) 1.30
K- K&H TR|ER - R ETR|ER-#fE + ETR|ER-#EF K-S - [ m - -Rish KR
6H7H ik IE '5EQ) 479 (+0.8)|fFE FEHW) 457 (0.0)|7EHMA S=H(1) 454 (+1.5)[;BH #EQ) 452 (+1.1)|[{EHE £#0) 4.46 (+0.9)|FF BEFQ) 4.40 (+0.8)|/Mik TH = EE(2) 4.38 (+0.6)|3%)11 HDY(2) 435 (+1.7)
K- B RE TR|E - K- XS K-z &F K- F@H - ABE K- IEH KR -®iLH
6A7H g R #BIEe) 12.50|85 K 1£(3) 11.50|iE& MEE®) 10.24 |+ EB(3) 10.17|823% HF0(3) 9.63|/KiZE EME®) 8.60|KE %kF®) 852| KA £&®Q) 8.39
KR TR| M- R TR| K-S+ TR| &I+ TR| &Mt TR|ER -5 & K- IEH EE-=&%
6/6~6/7 | mwsmst XHFE BERQ) 2192|HH E(2) 2078| & EZ=(2) 1953|1&#% FFE Q) 1783|BIR BE®) 1456| 1l £ 2<5(2) 1263|HEF #thEE(2) 1099|TH AE@) 628
RE-®AF - FHH RE-®AF RiE-EAH K- NAHG K- KEH RE-RiH K- NAHF
6H6H 100mH w 16.21 (+2.5) w 15.64 (+2.5) w 17.15 (+2.5) w 17.83 (+2.5) w 19.94 (+2.5) w 20.00 (+2.5) w 19.40 (+2.5) w 21.77 (+2.5)
6H7H 7k 1.46 1.31 1.43 1.25 1.25 1.19 NM NM
6H6H st 6.53 6.65 7.12 7.32 7.48 5.67 5.97 4.96
6H6H 200m 28.12 (+1.5) 28.57 (+1.5) 29.95 (+1.5) 28.90 (+1.5) 30.85 (+1.5) 31.09 (+1.5) 30.09 (+1.5) 33.79 (+1.5)
w (wind assist) : 1BJEE &
NM (No Mark) : FoEkIEL

TR : 183 1708k

ETR : 815 1R85 A
TR : #8135 iEFoak
ETR : i{5 dEi@5e ks
TR : 1B 24508k

ETR : 815245085 A
TR : @5 3FF0ek

ETR : 015 34F 085 1




